FERYHR W/IMEFRTS
SHbE2H248 (&) (F/8]Y)

EEEE Hy |5 (H) | ZE (H) | AGZE

AR X 92 22 800
ANS kg 152 108 500
F= kg - - -
D F (X£) kg - - -
=43 kg 86 32 800
F N kg /5 — 800
IEONAE =z 80 60 1, 000
INFEF kg 1,080 22 60
7+ F ke 324 h2 400
— = kg 918 432 200
B T7ZT— 1] - - -
L %X kg 173 108 500
I kg 432 108 500
B kg 518 — 20
B 18 741 - -
7 X kg 360 173 /2
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DA ke - - -
=3 xz - - -
A(—FT-0 X - - -
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12T kg - - -
RIFD kg - - =
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H kg 238 130 165
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FHE kg 1, 296 325 61
&5 = - - -
nEE3 xz - - -
IR x - - -
e kg . - -
CaAZ 4 v - - -
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A kg - - -
g (2078) kg - - -
g (0 353 4 ) kg 432 - 30
g (5 L) kg 454 292 290
| EA kg - - -
ER kg - - -
E AL = - -
AV 2/0g 540 272 8bh
HA £ kg - - -
N kg — — —
EADA kg - - -
7—JL XX 0> kg - - -
FoTrXX 0> kg - - -
TIHNI X O kg - - -
IN—Ah T X O Kg - - -
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